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o FUI FT #K o [ 34 9799 H HREd UB 16 79
79718 &
Please make sure. that the printed pages in.this
question paper are 16 in number and it contains
18 questions.

o T97-UF H gIfe &1 @l ST R T wIT TR TIT A FH OIH
FR-GRAHT & JEI-G% T [ |
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F97 FH T [T@T & A T &, F97 & BHIFH Fa9T
for@|
Before beginning to answer a question, its Serial
Number must be written.

2929/ (Set : A) P.T.O.

Previous Pathshala




(2) 2929/ (Set : A)
o FR-Yker & d1a 7 @redl G1/q+ 7 B8]

Don’t leave blank page / pages in your answer-
book.

o TW-JRaF & Sifaked #F o= dc & [
STaIFATIR &1 [ o for@r Gav 7 e
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o THETST 19T T To FIT-F GT 3G9 feid |

Candidates must write their Roll Number on the
question paper.

o FYAT F9I T TH a7 g4 T& GHlvad & [ g97-7 g
7 & & gieT & Ui 30 AR R HiE 4T grar @iEw
T&T 1T AT
Before “answering the question, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

AT (3397 -
() a4 gy s g1
(i) FOE J97 & S 39F T 9T 7T &
(iii) F97 Q@ 1 7 INE (i-xii) TGABAT J97 8| TA%
F97 1 i #1 81 % @8t oo a1 ForR-gikaer 4
fora &1
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(iv) F97 &1 2 & 10 % Jfdag FHIT 797 &l FA9%
797 2 3i# FT &l TAF F97 F T TTHT 30 =1
g gifo)

() T G@T 11 § 15 % @Y ITHT F97 8| A%
797 3 STB T &| F&H F97 FT T TTHT 40 =1
g gifo)

(vi) F9T G@IT 16 @ 18 T% IH I 497 8| FA%
q97 5 3iFHl & 81 Fedd FoT BT I TTHT 70 KT

7 &faa)

(vii) T9T-UF 7 GHT G GFIE Qe 7 2T 5 ot
arer -t g9t & aaRe g3 gerT fHar T4 & 09
791 & & ST HaT o & 797 3T &l

General Instructions :
(i) All questions are compulsory.

(ii) Marks for each question are indicated
against it.

(iii) Question Number 1 consists of twelve (i-xii)
multiple choice questions carrying 1 mark
each. Candidates have to write the correct
answer in their answer-book.
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(iv) Question Numbers 2 to 10 are very short
answer type questions of 2 marks each.
Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short
answer type questions of 3 marks each.
Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer
type questions of 5 marks each. Answer
these in about 70 words each.

(vit) There is no-over all choice. However, internal
choice is given in- all 'long .answer type
questions of S marks each: You have to
attempt only one of the given choice in such
questions.

1. (i) HIeR ATl &l 56 & 1
(A) ohm ‘em®mol™?
(B) ohm™2cm mol ™2
(@) ohm™2em?mol™?

(D) ohm™lem?mol™
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(5) 2929/ (Set : A)
The units of molar conductivity is :
(A) ohm™*em?mol™!
(B) ohm™2cm mol ™
©) ohm™2cm?mol ™!

(D) ohm™lem?mol™

(i) TP FAD Bivad Uddh DIedH # WA BT & 1
(A) 4 (B) 2
(C)3 (D). 1

In .a Face Centered Unit Cell (FCC) the
number of atoms present :

(A) 4 (B) 2
Q) 3 D) 1

(i) = & B JER FH FAT S ? 1
(A) TS (B) Trdfte

(C) TEHIeH (D) T=UTEiesd
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Which of the following reduces fever ?
(A) Analgesic (B) Antiseptic

(C) Antibiotic (D) Antipyretic

(v) = ¥ SF-91 Y 09 W 999 7&T s 7

(A) Qg TS (B) Sfawrernefl aw
(C) Tt T (D) 5T § FE T8

Which defects does not affect density of the
crystal ?

(A) -Schottky defects
(B) Interstitial defects
(C) Erenkel defects

(D) None of the above

(v) T3S A B & [ohar I @ : 1
(A) STaTEs (B) TT&IHIT
(C) BT (D) HI[LE
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Colloidal sols are purified by :
(A) Dialysis
(B) Precipitation
(C) Filtration

(D) Coagulation

(vi) TGS I S9TTAT ST & ¢ 1
(A) milli moles L' ' (B) mgL™

(C) mole L™ (D) mg per 10 ml

Flocculation value.is expressed in:

(A) milli moles L}
(B) mgL_1
(C) mole L}

(D) mg per 10 ml
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(vii) T § @9 U STuEeT qure & ? 1
(A) TR 3T
(B) TTah
(C) FYTH
(D) 318 § $1g T

Which of the following is a colligative
property ?

(A) Osmotic pressure

(B) Melting point

(C) Boiling point

(D) None of these

(viii) STRT I SATHIHAT & AT R ot S00S & 1
(A) mol'L's™? (B) s

(C) L mol ?s™! (D) L? mol2s™!

Unit of rate constant of zero order reaction

is :
(A) mol L!s™! B) s}
C L mol 2s™! (D) I? mol™2s™1
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(ix) HIICTET 3T & : 1

(A) STRA (B) e
(C) I (D) f§i®
Magnetite is an ore of :

(A) Iron (B) Calcium

(C) Copper (D) Zinc

(x) SIARRAT Cu?* +2e 5 Cu TH ISR & : 1
INEEIESIESUBSIEE R
(B) o= SAfhar
(C) ReTera srffshat
(D) Rafddar srwfear

Chemical reaction” Cu?* +2e~ — Cu is an
example of :

(A) Oxidation process
(B) Reduction process
(C) Redox process

(D) Reversible process
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(10) 2929/ (Set
(xi) R amaENe:

(A) e 9w 1,

(B) I, KI § fawas

(C) I, T TehlETceh (deds
(D) KI & S faaas

Tincture Iodine is :

(A) Aqueous solutionof I,
(B) Solution of I, in aq. KI
(C) Alcoholic solution of I,

(D) Aqueous solution of KI

(xii) 91 ¥ BN & T=IiE & ?
PNEGIEEE] (B) TRaRs

(OEEIEE] (D) U=
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(11) 2929/ (Set : A)
Which of following is an antacid ?
(A) Ranitidine (B) Aspirin

(C) Naproxen (D) Penicillin

2. fortecita aur arfsheedi 39 qai & aRamsm i) 2

Define the terms crystalline & amorphous

solids.

3. 750 ml fI@aT ¥ 14 I KOH 2 38 HIaxar &I 0T
o] 2

Calculate the molarity of a solution containing
14 gm of KOH in 750 ml of solution.

4, STFHfEHAT 37T OX ATIHTT T 41 A9 eIl & 7 2

What will be the effect of temperature on rate of
reaction ?

5. UISS{ UaTY I fsheeaiy M &l ol § 1 Sfers FHer
T B0 & 7 2

Why are powdered substances more effective
adsorbent than their crystalline forms ?
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6. [ wal &l gitwiva &g 2
M W
(i) @I
Define the terms :
() Solute

(ii) Solution

7. oH FfE AR & K = 4 min~! 8 506 A oy &l
U I 2

Calculate half life time of 'a 1st order reaction

having K = 4 min .

8. [ uai &1 gRenfee ifore - 2
i) G-
(i) R

Define the terms :
(i) Minerals

(ii) Ores
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9. FHEH ARH FTE ? § Iarew Aoyl 2
What are artificial sweetening agents ? Give two
examples.

10. ST & qRemT Q| 8er T g & ? 2
Define Corrosion. What is the chemical formula
of rust ?

11. &0 &1 w91 8 7 56 qeaygyl Iudn fafe| 3
What is Henry's law and mention its some
important applications ?

12, 9CH.IY 4T & ISMER0T Afed redn S 3
Explain  the term Schottky defects with an
example.

13. 99 BIfC AR & FHBCT 9T FHIGO & Gf
B ? 3
How will you derive integrated rate equation for
first order reaction ?

14, STIIEH T8 JEA SUIR &I ATAT BT | 3
Explain Dialysis and electro dialysis.
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15. FEad g iy & amer s 3

Explain the liquation process of refining.

16. PCls 1 (AR & & g faferdt e @ poy @5
&I ATEAT BT 5

Give two methods of preparation of PCl; and
discuss the structure of PCls.

Y

OR
DI o fo5eel grer ST STell & AW & 4 (|

Name any five oxoacids of phosphorus and write

their formula:

17. S & (AT Siiad! STl & A9 Id15U YT S T
CEIEY 5

Name the various oxoacids of halogens and draw
their structure.
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YT

OR
=T &t T ST

(@) H,S, H,Te ¥ & 3T &, 41 ?
(b) IS &1 THHTE FdER|

Explain the following :
(@) H,S isless acidic than H,Te , why ?

(b) Anomalous behaviour 'of Fluorine.

18. fgq wamS 80 1 8 ? ¥ 89 1 & ? 36e w
ERIEY 5

Define an electrochemical cell. What is salt
bridge and give its function ?
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YT
OR

sﬁaﬁﬁﬁm WSF‘T (electrolytic conduction) e
T Hifg | %ﬁ?%m(m)wﬁrﬁwﬂm%?

Discuss electrolytic conduction. What are factors
on which it depends ?
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